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Sections 7.4-7.6 Review

Algebra I1
Rewrite the equation in exponential form

1. log,16 =4
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Rewrite the equation in logarithmic form
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3.42=2
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4. 104 = 10000
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5. h(x) = logs(x + 2)
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Graph the functnon Then state the domain and range
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Domain:

X > -2
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Find the inverse of the function

7. y=Inx

8. y=

9. y=

loge(x + 2)
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Evaluate the logarithm without using a calculator.
10. log, 81 11. logg 1 12. logs -
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13. log, 2 14. log,, 3 15. log, 4z
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Uselog4 =~ 0.602 and log7 = 0. 845éétryz)revaluate with following logarithn!sﬁv;ithout a calculator.
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16. log 28 17. Iogz 18. loga
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Expand the following expressions.
2x
19. log— 20. log, x2y 21. In,/xy
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Condense the following expressions.
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22. log4 + 3logx +logy 23. 3logg 3 —logsx—Zlogg 24. In6 —In3+2lnx
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Use your calculator to evaluate the followmg logarlthms Round your answer to three decimal places

25. log, 12 26. logs 0.04 27. logy/3 0.004
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Solve the following equations. Check for extraneous solutions.

28. 10%t2 — 12 =22 29. log,(2 — x) = log, 5x 30. 9%* = 32x+4
@) g
10" 34 7 =x=5x% gﬁc =3
94 X”%l 3 = é-‘;@ P_%”)-‘f Fm’:&.;d»f»f;f
Wﬁw P o 2 =3
I 103 -] ZM :fff"j L
o - e |

7 X =~0.469

31 log,(3x—1) =8 32. 8% = (%)zx_1 33. logs(2x — 6) + logg x = 2
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